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A.REIL.C.7: Quadratic-Linear Systems 2

1 The accompanying diagram shows the graphs of a 5 Which ordered pair is in the solution set of the
linear equation and a quadratic equation. system of equations y = —x+ 1 and y = X2 +5c+62?
y 1) (-5,-1)
A 2) (-5,6)
3) (5,4
4) (5,2
- »X 6 What is the solution set of the system of equations
7 x+y=>5and y=x"-25?
D {(0,5),(11,-6)}
Y 2) {(5,0),(=6,11)}

3) {(=5,0),(6,11)}
4) {(_5’10)’(6’_1)}

How many solutions are there to this system of

equations?
D 1 7 Which values of x are in the solution set of the
2) 2 following system of equations?
3) 3 y=3x-6
4) 0 y=x"-x-6
2 How many solutions are there for the following 1) 0,-4
system of equations? 2) 0: 4
2
y=x"—-5+3 3) 6,-2
y=x-6 4) 6,2
1) 1 8 Which ordered pair is a solution of the system of
2) 2 equations y =x”> —x —20 and y = 3x — 15?
3) 3 1) (-5,-30)
4 0 2) (-1,-18)
3 Which ordered pair is a solution to the system of 3) (0,5)
equations y=x+3 and y = x? —x? 4) (5,-1)
) (69 9 Solve the following system of equations
2) (3,6 algebraically for a/l values of x and y.
3) G.-D y=x"+2x—8
4) (2,5
) (23) y=2x+1
4 The graphs of the equations y = x> +4x — 1 and _ '
y+3 =x are drawn on the same set of axes. At 10 Solve the following system of equations
which point do the graphs intersect? algebraically: y =x P+5x-17
1) (154) y=x- 5
2) (1.=2)
3) (-2,1) 11 Solve the following system of equations
4)  (=2,-5) algebraically.
y=x"+dx-2
y=2x+1
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12 Solve the following system of equations
algebraically: y =x> —6x+9
y=-9%+19

13 Which ordered pair is a solution of the system of
equations shown in the graph below?
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1) (3,1)
2) (3.5
3) (0,-1)

4) (0,-4)

14 Two equations were graphed on the set of axes
below.
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Which point is a solution of the system of
equations shown on the graph?

1) (8,9
2) (5,0
3) (0,3)
4) (2,-3)
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15 Which graph could be used to find the solution of 16 Which graph can be used to find the solution of the
the system of equations y = 2x + 6 and following system of equations?
y=xt+40+3? y=x"+2x+3
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17 On the set of axes below, solve the following
system of equations graphically and state the
coordinates of all points in the solution set.

y=x"+4x-5
y=x-1

y

18 Solve the following system of equations
algebraically or graphically for x and y:

y=x'—4x+3
y=x-1

19 On the set of axes below, solve the following
system of equations graphically for all values of x
and y. State the coordinates of all solutions.

y=x"+4x—-5
y=2x+3

y

20 Solve the following system of equations
algebraically or graphically for x and y:

y=x"+4x+6
y=2x+6
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21 Solve the following system of equations: 23 On the set of axes below, solve the following
y=x"+4x+1 system of equations graphically for all values of x
p=5x43 and y. :

[The use of the grid is optional.] y=-x"—dx+12
y=-2x+4
4

< » X
22 Solve the following system of equations .
algebraically or graphically for x and y: )
242 —1 24 On the set of axes below, solve the following
Y= system of equations graphically and state the
y=3x+5 coordinates of all points in the solution set.
2
y=—x"+6x-3
~ —— - x+y=17
5 ' _ ,
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25 On the set of axes below, solve the following 27 Solve the following systems of equations
system of equations graphically for all values of x graphically, on the set of axes below, and state the
and y. State the coordinates of all solutions. coordinates of the point(s) in the solution set.
y=x2—4x—5 y=x2—6x+5
y+3x=1 2x+y =5
y v

26  On the set of axes below, graph the following
system of equations. Using the graph, determine
and state all solutions of the system of equations.

y=-x>—2x+3
y+1=-2x

y
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28 On the set of axes below, solve the following 29 On the set of axes below, graph the following
system of equations graphically for all values of x system of equations.
and y. y+2x=x2+4
— 2 —
y=x —6x+1 y-x=4
y+2x=6 Using the graph, determine and state the

coordinates of all points in the solution set for the

1 system of equations.
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30 A rocket is launched from the ground and follows a
parabolic path represented by the equation
y =-x"+10x. At the same time, a flare is
launched from a height of 10 feet and follows a
straight path represented by the equation
y =—-x+10. Using the accompanying set of axes,
graph the equations that represent the paths of the
rocket and the flare, and find the coordinates of the
point or points where the paths intersect.

¥




A.REIL.C.7: Quadratic-Linear Systems 2
Answer Section

1 ANS: 2 REF: 060507a
2 ANS: 1
x*=5x+3=x-6 y=3-6=-3 (3,-3)
xP—6x+9=0
(x-3)>=0
x=3

REF: 061330ia
3 ANS: 2

x*—x=x+3 . Since y =x+3, the solutions are (3,6) and (1,2). [F="*"*" fra
X =2x-3=0
(x=3)x+1)=0
x=3or -1
REF: 061118ia
4 ANS: 4
A [{ a1 Y
: PN
x-3=x"+4x-1 1 i 3
2 3 20 0
x+3x+2=0 Intersection 3 # i
y+3=x Y =X Hzip oa p=-g T=-1
3 (x+2)(x+1) =0 -
=X- =_2_
g x=-2 x=-1 Y
y=-5

REF: 060018a

ID:



5 ANS: 2

X H+5x+6=—x+1. y=—x+1

Y

Inkerseckion
W=-K L

X +6x+5=0 =—(-5+1

x+5)x+1)=0 =6
x=-50r -1

REF: 080812ia
6 ANS: 2

y=-x+5. x+5=x"-25
0=x"+x-30
0=(x+6)(x-5)
x=-6,5

REF: 061213ia
7 ANS: 2

x’—x-6=3x—-6
x*—dx=0
x(x-4)=0
x=0,4

REF: 081015a2
8 ANS: 2

x?=x-20=3x-15. y=3x—15

L y=—(-6)+5=11.

y=-5+5=0

"B

Il'll_tl' ilslliﬁl'l
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/

Inter:ection*
=T Iv=-am

x?—4x-6=0 =3(-D-15
(x=5@x+1)=0 =-18
x=50r -1

REF: 010922ia

ID:



9

10

11

12

13
14
15
16

ANS:
(-3,-5), 3, 7). x> +2x—8=2x+1. y=2(3)+1=7
x*=9=0 y=2(-3)+1=-5
x =23

REF: 081236ia
ANS:

X +5x-17=x-5 y=—6-5=—11 (-6,-11),(2,-3)
x+4x-12=0 y=2-5=-3
(x+6)(x—2)=0

x=-6,2

REF: 011538ia

ANS:
A Yy Ve
| c T
B ERE
2 +dx-2=2x+1 fl : 4
X +2x-3=0 Intersecti 5 1 :
(-3,-5), (1,3). Ly =2(-3)+1=—5 %4 2 fe3 R==3
(x+3)(x-1)=0
=2()+1=3
x=-3x=1
REF: 080135a
ANS:
xX—6x+9=-9x+19 y=-9-5)+19=64 (-5,64)and (2,1)
¥ +3x-10=0 y=-92)+19=1
x+5x-2)=0
x=-52
REF: 081439ia
ANS: 2 REF: 011012ia
ANS: 1 REF: 011207ia
ANS: 4 REF: 011102ia
ANS: 1
2y —2x =10 axis of symmetry: _—_b_—_2__1
yoE RIS O SYMMERY: X =50 =21y =
2y =2x+10
y=x+5

REF: 081010ia



' ' i s

A A R

L i - {-?-QI‘ 1 S 1T \
| A J
| vl ) I

1 n ; Intersection]
I 4 o

=0

REF: 080839ia

18 ANS:

x—dx+3=x-1
2 Inkgrseckion
-5x+4=0 =
X X y=x—1 u=y

(x=(x-1)=0

—4)-1=3
x=4and x=1 @

=(1)-1=0

REF: 060839a
19 ANS:

REF: 011437ia
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1

P H+dx+6=2x+6
2 45, =

R x+2x=0 y=2+6

xix+2)=10
=2(0)+6=6
x=0and x=-2

Intgrseckion
H="E

c

REF: 080839a

21 ANS:
y 1
- HiiHs
Lo
X
' \
] X +4x+1=5x+73
:, 3’2 - X- 2 = 0 Intersection
! . y=5%+3 . Hs2 VBT
(x=2)(x+1)=0
=52)+3=13
x=2 x=-1
=5(-1)+3=-2
# Y1 Ve
-1 -2 2
P
h iz 1z
T 2z in
i 33 23
£ g ]
H=2

REF: 080538a
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22 ANS:
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REF: 069935a
23 ANS:

REF: 061039ia

(3,14) and (-2,-1).

2 +2x-1=3x+5

*-x-6=0
(x=3)(x+2)=0
x=3 x=-2

ID: A

Int tion=
. y=3x+5 S e

=33)+5=14
=3(-2)+5=-1



24 ANS:

25 ANS:

1 10 0
112 -4 I‘S\

1 (2,-8)

- . )

REF: 061637ia
26 ANS:

REF: 081337ia
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REF: fall0738ia
28 ANS:
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REF: 060939ia

REF: 011339ia
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30 ANS:
-x*+10x=-x+10
. e -x*+11x-10=0
T ¥ -11x+10=0 . y=—x+10
(x-10{x-1H)=0 =—(10)+10=0
x=10 x=1 =—(1)+10=9
a1 Ve
Y 2y B
£ 2 £
b ] 4
7 21 3
a éﬁ i
I’_o [
H=18
REF: 060235a

Intersection
H_—'i ——

¥=8

ID:



